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Copy and complete each problem below.  Set your working out clearly as you have been shown.

Round to 1 d.p.

### ÷ 11 ### ÷ 5 ### ÷ 5

[1] 590.5  ÷  11  = [2] 643.7  ÷  5  = [3] 671.5  ÷  5  =

### ÷ 12 ### ÷ 6 ### ÷ 5

[4] 680.5  ÷  12  = [5] 761.99  ÷  6  = [6] 886.69  ÷  5  =

Round to 2 d.p.

### ÷ 3 ### ÷ 3 ### ÷ 3

[7] 873.85  ÷  3  = [8] 919.14  ÷  3  = [9] 975.6  ÷  3  =

### ÷ 9 ### ÷ 4 ### ÷ 3

[10] 867.23  ÷  9  = [11] 901.99  ÷  4  = [12] 1004.32  ÷  3  =

Round to 3 d.p.

### ÷ 11 ### ÷ 3 ### ÷ 6

[13] 577.87  ÷  11  = [14] 658.5  ÷  3  = [15] 706.45  ÷  6  =

### ÷ 10 ### ÷ 5 ### ÷ 3

[16] 485  ÷  10  = [17] 543  ÷  5  = [18] 630  ÷  3  =



ANSWERS

Division Dividing decimal numbers and rounding

Copy and complete each problem below.  Set your working out clearly as you have been shown.

Round to 1 d.p.

### ÷ 11 0 ### ÷ 5 0 ### ÷ 5 0

[1] 590.5  ÷  11  = [2] 643.7  ÷  5  = [3] 671.5  ÷  5  =

0 ### ÷ 12 0 ### ÷ 6 0 ### ÷ 5 0

[4] 680.5  ÷  12  = [5] 761.99  ÷  6  = [6] 886.69  ÷  5  =

Round to 2 d.p.

### ÷ 3 0 ### ÷ 3 0 ### ÷ 3 0

[7] 873.85  ÷  3  = [8] 919.14  ÷  3  = [9] 975.6  ÷  3  =

### ÷ 9 0 ### ÷ 4 0 ### ÷ 3 0

[10] 867.23  ÷  9  = [11] 901.99  ÷  4  = [12] 1004.32  ÷  3  =

Round to 3 d.p.

### ÷ 11 0 ### ÷ 3 0 ### ÷ 6 0

[13] 577.87  ÷  11  = [14] 658.5  ÷  3  = [15] 706.45  ÷  6  =

### ÷ 10 0 ### ÷ 5 0 ### ÷ 3 0

[16] 485  ÷  10  = [17] 543  ÷  5  = [18] 630  ÷  3  =

52.534 219.500 117.742

48.500 108.600 210.000

291.28 306.38 325.20

96.36 225.50 334.77

53.7 128.7 134.3

56.7 127.0 177.3


